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1  A:“Are you busy?”

B: “Yes, I’m trying to reserve a hotel room. Next month we ........... to Barcelona.”
1) travel 2) am going to travel 3) are going to travel 4) traveled
2 Look, .. apple is getting so expensive! Look, that apple costs more than $10 ........... pound.
1)—/a 2)the/a 3) —/ the 4) the / the
3  A:“There is no coffee. Would you like a cup of tea, instead?”
B: “No, thanks. I ........... some orange juice.”
1) drank 2) will drink 3) drink 4) am going drink
4 I don’t have very much money, so I .......... buy ... bicycle only if it doesn’t cost more than $1,000.
1) will / — 2) am going to / — 3) will / the 4) going to / the
5 A:“Let’s have a birthday party.” B: “That’s a good idea. We ........... lots of friends.”
1) have invited 2) invite 3) are going to invite 4) will invite
6 A:“Idon’tunderstand .......... this word means.” B: “You need to look itup in ............ dictionary.”
I) which / a 2) what / a 3) which / an 4) what / —
7  A:“Are you busy this evening?”
B: “Yes, I’'m going to meet David at the museum at seven. We .......... together.”
1) were going to study 2) would study 3) have studied 4) are going to study
8 A:“Idon’tfeel very well today.”
B: “Well, go to bed early, and you ........... better in the morning.”
1) are feeling 2) will feel 3) feel 4) felt
9 A:“Did you call your cousin?” B: “No, I forgot. I ............ her now.”
1) call 2) called 3) will call 4) am going to call
10 My mother has worked all day long. She must be very tired. In fact, she looks as if she .......... .
1) has passed out 2) would pass out 3) was passing out 4) is going to pass out
11  A: “Excuse me, I need a jacket. May you help me find a good one?”
B: “Sure, I ... you.”
1) am helping 2) helped 3) will help 4) am going to help
12  A: “Do you want to go out with your friends?” B: “No, I am going ........... the movie on TV.”
1) to watch 2) watching 3) will watch 4) watch
13 Ar“. will you stay in a hotel?” B: “For about ten days.”
1) Which 2) When 3) How long 4) Why
14 A: “Where are you going on holiday?” B: “I don’t know yet, maybe ............ to Bulgaria.”
1) I went 2) I will go 3) I am going to go 4) I am going
15 A: “There is a good film about the Persian zebra on channel four tonight.”
B: “ Yes, I know. We ............ it.”
1) watched 2) have watched 3) watch 4) are going to watch

@ Sentence Structure ‘
]

16
1) Some hunters don’t go hunt anymore because they want to save nature.

2) Some hunters don’t go hunting anymore because they want to save nature.
3) Some hunters don’t go hunt anymore because they want saving nature.
4) Some hunters don’t go hunting anymore because they want saving nature.
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1) When the number of people on Earth increases, they need more places for living.
2) When the number of people on Earth increase, they need more places to living.
3) When the number of people on Earth increase, they need more places for living.

4) When the number of people on Earth increases, they need more places to living.

1) He’s going to made himself a sandwich and get back to work as soon as possible.
2) He’s going to make him a sandwich and got back to work as soon as possible.
3) He’s going to makes himself a sandwich and get back to work as soon as possible.

4) He’s going to make himself a sandwich and get back to work as soon as possible.

1) We are going to buy a small house at the city center when we’ve save money enough.
2) We are going to buy a small house at the city center when we’ve saved enough money.
3) We are going to buy small house at the city center when we’ve saved enough money.

4) We are going to buy a small house at the city center when we’ve saved money enough.

1) A: “Did you post that letter for me?” B: “Oh, I'm sorry. I forgot completely. I am going to do it now.”
2) A: “Do you post that letter for me?” B: “Oh, I'm sorry. I completely forgot. I am going to do it now.”
3) A: “Do you post that letter for me?” B: “Oh, I'm sorry. I forgot completely. I will do it now.”
4) A: “Did you post that letter for me?”” B: “Oh, I’'m sorry. I completely forgot. I will do it now.”

1) If John will go on a trip next month, he won’t have time to finish the project.
2) If John goes on a trip next month, he won’t have time to finish the project.
3) If John goes on a trip next month, he wouldn’t have time to finish the project.

4) If John goes on a trip next month, he won’t have time finishing the project.

1) We are the people who stand by our friends in times of need, and we will do so now.
2) We are the people whom stand by our friends in times of need, and we will do so now.
3) We are the people who stand by our friends in time of need, and we will do so now.

4) We are the people whom stands by our friends in times of need, and we will do so now.

1) If you live in a village, you need to be very careful about the hunters.
2) If you live in a village, you need being very careful about the hunters.
3) If you live in a village, you need to be very carefully of the hunters.

4) If you live in a village, you need being very carefully about the hunters.

1) We are thinking about how teaching people to take care of animals.
2) We are thinking about how to teach people to take care animals.
3) We are thinking about how to teach people to take care of animals.

4) We are thinking about how teaching people to take care animals.

1) There was fire anywhere, and he tried to save his family’s life.
2) There was fire everywhere, and he tried saving his family’s life.
3) There was fire anywhere, and he tried saving his family’s life.

4) There was fire everywhere, and he tried to save his family’s life.
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26 She must be given all the available information, and she can then take the ........... action.
1) singular 2) common 3) regular 4) appropriate
27 David sat down at his desk and turned his ............ to the file he had in front of him.
1) expression 2) attention 3) intonation 4) protection
28 Experts estimate that,on .......... , the world loses a language every two weeks.
1) common 2) simple 3) average 4) correct
29 A good amount of exercise every morning is ............ believed to help you be healthy.
1) recently 2) finally 3) properly 4) commonly
30 Have you got a certificate to show that you have successfully ............ the course?
1) completed 2) injured 3) endangered 4) destroyed
31 Russia wants to be ............ as a good member of the international community.
1) expressed 2) considered 3) performed 4) increased
32 Theearthquake has .......... many homes in the area; the government should definitely do something to help the people.
1) interested 2) destroyed 3) injured 4) endangered
33 The tubes that carry liquid, ........... blood through the body are called vessels.
1) simply 2) regularly 3) especially 4) appropriately
34 It’s ... how someone can break your heart, but you still love them with all the little pieces.
1) amazing 2) proper 3) complete 4) simple
35 Itwas aprivate ... ,and I don’t want to go into details about what was said.
1) expression 2) protection 3) conversation 4) information
36 Unless we do something now, hundreds of plant and animal species will .......... .
1) put out 2) die out 3) take care 4) put down
37 Most people accept the proposition that we have a duty to protect ............ animals.
1) interested 2) destroyed 3) saved 4) endangered
38 ... , we’ll finish the project by the end of this cold season.
1) Especially 2) Properly 3) Wonderfully 4) Hopefully
39 Another world war can be dangerous beyond imagination; some believe that it may even lead to the destruction of
the entire ........... life on Earth.
1) pilot 2) human 3) hunter 4) relative
40 Even in this age of high technology, activities like fishing and ............ have remained constantly popular.
1) increasing 2) falling 3) hunting 4) interest
41 Idon’t like seeing animals in a zoo. I prefer to see them in their ........... surrounding areas.
1) interesting 2) regular 3) proper 4) natural
42 A number of psychologists argue that it is almost impossible to understand the ........... of the human mind because it
is more complex than previously thought.
1) nature 2) plain 3) lake 4) mountain
43 Although Tom didn’t know swimming very well, he jumped into the river to ........... the little boy.
1) injure 2) destroy 3) hurt 4) save
<
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The average human ............ in the developed countries has increased over the last hundred years.

1) schedule 2) lifespan 3) weather 4) nature

The government wants more people to use public transport ............ private cars.

1) in spite of 2) due to 3) instead of 4) because of
As doctors say, smoking can ........... the risk of developing heart disease.

1) increase 2) protect 3) destroy 4) injure
Passengers were asked to ........... their own suitcases before they were put on the plane.

1) identify 2) consider 3) protect 4) increase
The pastcan ............ . But the way I see it, you can either run from it, or learn from it.

1) injure 2) destroy 3) hurt 4) save

These ........... are often used interchangeably, but they do have different meanings.

1) files 2) patterns 3) practices 4) expressions
Our program ensures daily opportunities to ........... your study language with native speakers.

1) increase 2) protect 3) attend 4) practice
This is Sara’s first .......... job — she usually does temporary work just for the money.

1) interesting 2) regular 3) enough 4) natural
Scientists have used genetic engineering to ............ tomatoes against the effects of freezing.

1) identify 2) consider 3) protect 4) increase
They used special high-pressure hoses to help them .......... the fires.

1) pick up 2) die out 3) put out 4) take care
Bill was among the first to gain entry to Buckingham Palace when it was opened to the public ........... .
1) recently 2) usually 3) commonly 4) properly
Because of chemical pollution of rivers, the cost of producing ............ drinking water has increased a lot.
1) amazing 2) safe 3) correct 4) wonderful

A large glass container in which fish and other water creatures and plants are kept is called ........... .

1) plain 2) lake 3) ocean 4) aquarium
The next thing on my ............ is to telephone my friend and have an appointment.

1) schedule 2) lifespan 3) column 4) nature

The most appropriate ............ may simply be to walk away from the problem.

1) future 2) pain 3) strategy 4) chart

Your job won’t take care of you when you are sick. Your friends and family will. ........... in touch.

1) Increase 2) Stay 3) Decrease 4) Follow
Each corner had a guard ........... , each of which was exactly ten meters in height.

1) museum 2) village 3) safe 4) tower

Since retiring from the company, she has done ............ work for a charity.

1) average 2) irregular 3) voluntary 4) endangered
The ........... of the airplane had to make an emergency landing because of the very bad weather.

1) pilot 2) guide 3) holder 4) protector
The pollution of the forest has seriously affected plant life and, to a lesser extent, ............ .

1) rule 2) wildlife 3) chart 4) strategy
New Year time is here. I hope you have a/an ........... New Year. May every day hold happy hours for you.
1) safe 2) amazing 3) hopeful 4) voluntary

There is a Chinese proverb which states that you must scale the mountain if you want to view the ... .

1) plain 2) attention 3) protection 4) future
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‘K* t is important that animals such as the polar bear make it onto the endangered species list. Once they are on the list,

9@ there are laws that .0 these animals from being .87 for food or sport. Agencies also receive money and tools to
%
i\

¥iJ protect the habitat and recover the ..2°... . The goal of removing the animal from the list is often achievable.

.

Since the Endangered Species Act was introduced in the US in 1973, many species have been taken off the list due to .09

populations. In fact, it is rare for a species to go extinct after it makes it to the list. Sadly, many species do go extinct while

waiting for W0
66 1) make 2) order 3) protect 4) practice
67 1)saved 2) hunted 3) died 4) damaged
68 1) natures 2) futures 3) species 4) averages
69 1) increased 2) identified 3) destroyed 4) related
70 1) intonation 2) information 3) expression 4) consideration
é 2 \ o~
Ra oday, gorillas living in the wild face many threats. This is WL many of the forests in the world are being
* .72 . Because the natural habitats of these ../5... are being destroyed, gorillas face the threat of extinction
in the future. To help save the gorillas from .74 some of these animals are bred in captivity in zoos all over

the world. The Singapore Zoological Gardens obtained its first pair of gorillas in 1983. The two gorillas, 3. names

were Saul and Goliath, were a gift from the Bristol Zoo in England.

71 1) beacuse 2) before 3) against 4) while

72 1) put out 2) cut down 3) died out 4) taken care of
78 1) creatures 2) expressions 3) wonders 4) lifespans

74 1) attention 2) intonation 3) extinction 4) protection
75 1) which 2) where 3) that 4) whose

(Parage3\  on

7€ 3% omelions have been known to eat humans. However, this is thought to only have been done by those which are suffering

from ..70.. and disabilities that make it difficult for them ...... natural prey and thus pursue humans as they are

s weaker and easier to capture. Another theory is that their natural habitat is .78 and not wanting to starve,
they attack humans. The thought that lions are predatory towards humans has ....7... ignorance and increased the amount

of hunting by encouraging the extermination of these creatures. Humans have taken over territories once belonging to lions
80

and by forcing ..2"... to leave their natural home have further demolished their habitat and lifestyle, leaving them to suffer.
76 1) damages 2) huntings 3) abilities 4) injuries

77 1) hunted 2) to hunt 3) hunting 4) hunts

78 1) unnatural 2) unavailable 3) inappropriate 4) common

79 1) created 2) identified 3) protected 4) supported

80 1) their 2) theirs 3) they 4) them
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telegram.me/irandaneshnovin www.idnovin.com

1 ~ Lesson 1 W\K

o~

j" ' very species of plant, animal, and insect is threatened by global warming. Nevertheless, groups of concerned

ﬁ __ scientists and environmentalists, .81 the World Wildlife Fund, often study large carnivores in order to

/. assess the health of an ecosystem. The Arctic food chain .82 the polar bear. In addition, donations are

......... offered for the protection of large animals such as bears or elephants. People in general are less interested in

conservation efforts that protect small species, such as plants or insects. However, by using donor money to protect the

habitats of larger animals .84 reforestation and similar programs, entire ecosystems 83,

81 1)so 2) such as 3) besides 4) as

82 1) relies on 2) puts out 3) dies out 4) keeps on
83 1) commonly 2) wonderfully 3) nearly 4) amazingly
84 1) between 2) among 3) through 4) without

85 1) with many threatened can be saved or endangered species
2) with many threatened or endangered species can be saved
3) by many threatened can be saved or endangered species

4) by many threatened or endangered species can be saved

the largest species of lizard in the world. Adult Komodos can grow to more than three meters long and weigh about 70
kilograms. The largest Komodo ever was an amazing 166 kilograms!

European scientists discovered them in 1910, and the first two Komodos were kept at the London Zoo in 1927. When
Hollywood producers heard about the giant lizards, they made a movie in 1933 about a giant gorilla called “King Kong.”
The Komodos can live for about forty or even fifty years. They eat almost anything they can catch; for example, birds,ﬁ
bird eggs, monkeys, deer, and horses. Sometimes they even eat other, smaller Komodos, and sometimes (but not often) even
people. They especially like to eat dead and dying animals which they can smell from many kilometers away. |

There are only about fifty Komodo dragons in zoos around the world, located mostly in Indonesia, Europe, and ¢
North America. Because there are so few of them living in the wild, a park called Komodo National Park was opened in
Indonesia to protect them from hunters. It had forty-five thousand visitors in 2010. %

86 Which of the following is NOT true about Komodo dragons?

1) Some of them can grow more than 3 meters long.
2) They were discovered by some European scientists in 1910 in England.
3) The Hollywood producers made a movie based on them in the first half of the twentieth century.
4) They have been in danger of extinction in recent years.
87 According to the passage, why did people make Komodo National Park?

1) The Komodo dragons are dangerous. 2) It is easier for people to see Komodo dragons.

3) Some people kill Komodo dragons. 4) Many people want to visit these amazing animals.
88 The underlined word “they” in paragraph 2 refers to ........... .

1) people 2) smaller Komodos 3) Komodos 4) dead animals

89 There is enough information in the passage to answer all of the following questions EXCEPT ........... .
1) How many Komodo dragons are there in Indonesia? 2) Why are some giant lizards called Komodo dragons?
3) Where were the first two Komodos kept? 4) When was the Komodo National Park opened in Indonesia?
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ESA defines as one that is likely to become “endangered” in the foreseeable future. \

The polar bear is the first animal that has been classified as endangered due primarily to global warming. Global J
warming is a form of climate change caused by increased levels of carbon dioxide and other greenhouse gases that
become trapped in the atmosphere. Oil and gas heaters, engines using oil or petrol (or gasoline), and coal-powered
electricity plants all require fossil fuels that lead to global warming. Renewable energy sources or renewables that don’t¢
cause global warming include solar, wind, and hydro-electricity power. These alternative forms of power, as well as the
science of climate change, have been strongly attacked by many of the world’s biggest companies in order to protect
the huge profits they make from fossil fuels. They do this even though they’re fully aware of how much fossil fuels are |

o

damaging our planet and endangering many of the species we share it with.
90 Which of the following is defined in the passage? é%
1) polar bear 2) the ESA 3) global warming 4) electricity plants
91 What is the main purpose of the second paragraph?
1) to introduce the polar bear as an endangered animal
2) to emphasize the role of global warming in the extinction of animals
3) to describe the importance of renewable energy sources
4) to explain the coal-powered electricity plants
92 According to the passage, all of the following factors cause global warming EXCEPT ............ .
1) oil and gas heaters 2) using gasoline
3) hydro-electricity power 4) coal-powered electricity plants
93 The word “primarily” in paragraph 2 is closest in meaning to ........... .

1) commonly 2) flexibly 3) appropriately 4) mainly

(Pssage3\ o

%> n many ways, the cheetah is built for speed. Even though this animal is a cat, its paws are much more like a

dog’s paws. The paws allow the cheetah to grip the ground when it makes quick turns. A cheetah also has long

F legs that help it take big steps. It can jump as far as 20 feet in one leap! Even the cheetah’s backbone helps it \
mo;le quickly. Its backbone twists and turns, letting the cheetah zigzag across the ground easily. The backbone acts as
a spring, moving the cheetah forward with sudden bursts of energy. Although the cheetah can run fast, it cannot run
for long distances. It uses its energy quickly and becomes tired. If the cheetah cannot catch its dinner in a hurry, it will
have to rest awhile before trying again.

A cheetah is also made to be a great hunter. It has sharp eyesight. A cheetah can see other animals up to three miles
away. Good eyesight helps the cheetah find its prey, so it can plan an attack. A cheetah’s coat is also very useful. The coat
is tan with black spots. This coloring allows a cheetah to blend in with the tall, brown grass in Africa. Other animals do
not see it hiding, so a cheetah can sneak up on rabbits, birds, and other animals.

Today, there are many threats to the cheetah. Parts of Africa are being turned into farms and ranches. This change 1
forces the cheetah and other animals to find new places to live, which is not always easy. Cheetahs are also being hunted /!

by other animals such as lions and hyenas. However, zookeepers and wildlife experts are trying to save the cheetah.

Maybe with their help, cheetahs will grow larger in number. %
94 According to the passage, the cheetah’s coat is very useful because it ............ .

1) keeps the cheetah cool after a long run 2) lets the cheetah move with great speed

3) helps the cheetah hide in the grass 4) protects the cheetah from the sun
95 Cheetah’s backbone is like a spring because of the ........... .

1) shape 2) size 3) way it moves 4) way it feels
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(Lesson 1) S, abu [ | :;
s PO
1. A: “Would you prefer tea or coffee?” B:“l e some coffee, please.”
1) will have 2) am going to have 3) am having 4) have
2. The ............... over there want to meet ............... sons
1) woman — her 2) women — their 3) women — her 4) woman — their
3. I have bought some wood because I ............... a bookcase for my apartment.
1) have built 2) build 3) am going to build 4) built
4. Which of the following is NOT grammatically correct?
1) Who teaches you math every Saturday? 2) Why are you going to wear that coat?
3) When banks open in your country? 4) Where do you live nowadays?
5. Rescue workers have found a baby ............... and well, three days after the deadly earthquake that struck the Iran-Iraq border.
1) dead 2) simple 3) alive 4) extra

6. The forest fire that started in Iran’s Golestan National Park was brought under control on Thursday after ...............

100 hectares of forest.

1) destroying 2) hunting 3) saving 4) moving
7. Until quite ............... , people in developed countries didn’t care much about the environment.
1) hopefully 2) normally 3) properly 4) recently
8. Before they were protected as an endangered species, the cheetah population greatly decreased by ............... , who killed

the cats for their fur.

1) leopards 2) wolves 3) lions 4) hunters
9. Tom and Mary were speaking in French, so I had no ............... what they were talking about.

1) hope 2) idea 3) gulf 4) plan
10. I can’t understand why they’re such good friends. They have hardly anything in ............... .

1) common 2) general 3) particular 4) recent
11. Unfortunately, there are not enough doctors to provide ............... care for children in Afghanistan.

1) natural 2) proper 3) interesting 4) average
12. She hoped Daniel could stay all weekend. ............... , he has to leave on Saturday.

1) Especially 2) However 3) Commonly 4) Properly

Cloze

Dinosaurs were the biggest animals in the world. They lived on ....13.... and in water millions of years ago.
There .....14..... over seven hundred different types of dinosaur. Some were taller than a house. Some were smaller
than a dog. The tallest dinosaurs were the Seismosaurus and the Argentinosaurus. They lived in America .....15.....
150 million years ago. The seismosaurus was over 40 meters long from nose to tail. It had a long neck like a

..... 16..... It didn’t have any horns. It walked on four legs. It didn’t eat meat. It ate leaves, grass and ... 17......
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13. 1) hill 2) land 3) nature 4) zoo

14. 1) has 2) was 3) be 4) were

15. 1) about 2) near 3) of 4) for

16. 1) tiger 2) panda 3) giraffe 4) wolf

17. 1) animals 2) plants 3) hunters 4) goats
Passage 1

18.

19.

20.

21.

What is a fruit? What is a vegetable? Both fruits and vegetables grow from plants. They are both very healthy.
But how can we tell them apart?

A fruit is usually very sweet. An apple is a fruit, and it is very sweet. A strawberry is a fruit, and it is very sweet.
An orange is a fruit, and it is very sweet. But not all fruits are very sweet. A tomato is a fruit, but it is not very sweet.

So what is a fruit? A fruit grows from a flower, and it contains seeds inside of it. An apple grows from the flower
of an apple tree, and it contains seeds. A strawberry grows from the flower of a strawberry bush, and it contains
seeds. An orange grows from the flower of an orange tree, and it contains seeds. A tomato grows from the flower of
a tomato plant, and it contains seeds. All of these grow from flowers and contain seeds. That is why they are fruits.

Now let’s talk about vegetables. A vegetable usually isn’t sweet. Broccoli is a vegetable, and it is not sweet.
Lettuce is a vegetable, and it is not sweet. Radish is a vegetable, and it is not sweet. But not all vegetables are not
sweet. A sweet potato is a vegetable, and it is very sweet.

So what is a vegetable? A vegetable grows from the earth, and it does not contain seeds inside it. Broccoli grows
from the earth, and it does not contain seeds. Lettuce grows from the earth, and it does not contain seeds. A radish
grows from the earth, and it does not contain seeds. A sweet potato grows from the earth, and it does not contain
seeds. All of these grow from the earth and do not contain seeds. That is why they are vegetables.

So, next time you see a red, round tomato, maybe you’ll think twice about calling it a vegetable. Although it may

look like an apple, you’ll find it’s quite different!

According to the passage, why is tomato a fruit?

1) It grows from the earth and is not sweet.

2) It is red and round like an apple, which is also a fruit.

3) It is very healthy and very sweet.

4) It grows from a flower and contains seeds.

Based on the information in the passage, which of these is a vegetable?
1) a pumpkin, which contains seeds and grows from a flower

2) a squid, which is an animal that comes from the ocean

3) a carrot, which does not contain seeds and grows from the earth

4) a hamburger, which comes as a product of livestock

According to the passage, which sentence is NOT true about vegetables?

1) They are very sweet. 2) They do not grow from flowers.
3) They do not contain seeds. 4) They are very healthy.

What is the main purpose of this passage?

1) to show why some fruits are sweet and some are not  2) to explain the difference between fruits and vegetables

3) to prove that a tomato is a fruit 4) to tell us how to pick out a healthy snack
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Passage 2

As humans, we are active during the day and sleep at night. Many animals are the same, but some animals are
nocturnal. They sleep during the day and are active at night. One creature you may encounter at night is a bat.
Most bats sleep during the day and wake up hungry at night. Once it is dark, they find food to eat. Most bats eat
insects like moths. Some bats eat fruit or nectar from flowers. A bat that eats fruit is called a fruit bat. One bat,
called the vampire bat, bites its prey and drinks its blood.

Many people believe bats are blind, but bats can see at night. This is one of the reasons they like the dark, but they
actually find their food by using their ears. They listen for their prey using echoes from the world around them.
They send a sound into the world with their mouth. The sound bounces off of an object like a moth’s wing. The
echo returns to the bat. Now they can swoop in to find the moth. This special type of listening is called echolocation.

There are other animals that also use echolocation like dolphins, whales, and shrews.

Which statement is FALSE?

1) Bats are the only animals that use echolocation. 2) Bats use echolocation to find their food.
3) Bats usually wake up hungry at night. 4) Bats can see easily at night.

According to the passage, which of the following is TRUE?

1) All bats sleep during the day and eat at night.

2) The fruit bat drinks its prey’s blood.

3) Everyone believes that bats can’t see.

4) Bats find their prey by using echoes from the world around them.

Echolocation is probably ............... .

1) a sound a moth makes 2) a smell coming from far away

3) a way of listening to sounds bouncing off an object ~ 4) a moth’s wing

Which of the following has been defined in the passage?
1) fruit bat 2) echo 3) creative 4) moth
1 6 11 16 21
2 7 12 17 22
3 8 13 18 23
4 9 14 19 24
5 10 15 20 25
¥ 9o
(Lesson 1) g5 abuw [ | :;
.. £ ra -
Too much coffee ............... you a headache. Don’t drink so much.
1) is going to give 2) is giving 3) will give 4) gave
A: “The alarm’s gone off. It’s making an awful noise.”
B: “OK, I .............. it off.”
1) will switch 2) switch 3) am switching 4) am going to switch
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28. If you take a look at these graphics, you can see that the economy ............... worse very soon.
1) would get 2) gets 3) got 4) is going to get
29. Which sentence is CORRECT?
1) I buy new computer next week because a computer in my office is broken.
2) I’m going to buy a new computer next week because the computer in my office is broken.
3) I buy the new computer next week because computer in my office is broken.
4) I’'m going to buy a new computers next week because the computer in my office is broken.
30. Only the Caspian ............... in Iran receives more than 1000 mm of rain each year because two mountain ranges affect

the climate.

1) schedule 2) building 3) rule 4) plain
31. It’s important to note that such ............... -seeking behavior is a normal part of a child’s development.
1) information 2) attention 3) practice 4) advice
32. He was supposed to stay here and help us move things. ............... , he went off to play golf.
1) In order 2) Despite 3) Instead 4) Anymore
33. Some shopping centers have ............... designed trolleys to answer the needs of parents with children.
1) naturally 2) honestly 3) selfishly 4) especially
34. Take up a job which interests you and work harder to make things work in a better way. Always remember things
take time, but if you are ............... enough, nothing can stop you.
1) upset 2) hardworking 3) careless 4) interesting
35. 1 would like to ............... a meeting with you at your office to introduce myself and to discuss our projects. Please let

me know what day and time is best for you.

1) explain 2) capitalize 3) divide 4) schedule
36. Animal protection, ............... when it comes to endangered species is vital to mankind’s existence.

1) simply 2) especially 3) appropriately 4) properly
Y L the rain will end and you’ll be able to celebrate your kid’s birthday,” Jack’s mother said.

1) Hopefully 2) Especially 3) Recently 4) Regularly

Cloze

Humans are the only cause of plants and animals becoming .....38..... or extinct. An endangered species has so
few members that the species may .....39...... If we don’t .....40..... an endangered species, we will not have any more
of that kind of plant or animal on Earth. The most dangerous thing humans do to endangered animals is ....41.....
their habitat or homes. This is usually because we do not pay very close .....42...... When there is an area of land we

want to use, we don’t notice what is already living there. Hopefully, people will become more aware of the problem.

38. 1) hardworking 2) especial 3) endangered 4) amazing
39. 1) die out 2) put out 3) find out 4) take care
40. 1) increase 2) attack 3) protect 4) find

41. 1) making 2) dividing 3) attending 4) destroying
42. 1) attention 2) function 3) schedule 4) information
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Passage 1

Insect-eating plants don’t have claws or sharp teeth, but they do “eat” living creatures. That ability makes these
plants some of the most interesting and remarkable plants on earth.

Insect-eating plants have bright colors, smells, and flowers to attract insects. Insects are then trapped by the
plants and become prey, or food for the plants.

Insect-eating plants, also known as carnivorous plants, do not chew or swallow prey. Instead, they release juices
that break down the captured insect. Then the plant can start digestion by soaking up parts of the insect.

Most species of carnivorous plants are smaller plants that can reach up to 12 inches in height. Some taller species
look like vines and can grow to the height of 3 feet.

Justlike other plants, carnivorous plants also obtain energy in the process of photosynthesis. They absorb sunlight
and carbon dioxide from the atmosphere to create this energy.

These carnivorous plants live throughout the world. About 40 kinds, or species, live in North America. North
America’s carnivorous plants include six general types: the Venus flytrap, sundews, butterworts, bladderworts,
the California pitcher plant, and eastern pitcher plants.

Each type has its own special way to trap insects. And each type has its own unique look. For example, the Venus
flytrap can sense when a moving insect is in between its leaves and will very quickly snap shut to capture its prey.
If the prey is too small and escapes, the trap will reopen within 12 hours. If the prey moves around and can’t get

out, the trap tightens and the plant will begin digestion.

43. The passage intends to ............... .
1) describe the life and feeding habits of insects
2) describe the life and feeding habits of insect-eating plants
3) explain how the Venus flytrap catches insects
4) understand where insect-eating plants are found
44. According to the passage, which of the following is NOT true?
1) Insect-eating plants have bright colors. 2) Venus flytrap has sharp teeth.
3) Carnivorous plants break down and digest insects. 4) Venus flytrap will reopen if its prey escapes.
45. What happens if a Venus flytrap catches an insect that is too small?
1) The insect can escape and the trap will reopen.
2) The trap will get tighter so that the insect won’t escape.
3) The trap will not be able to open again.
4) The insect will call for help and more insects will be trapped.
46. What is the process of photosynthesis?
1) trapping an insect to be used as food
2) absorbing sunlight and carbon dioxide to create energy
3) releasing juices to break down a captured insect

4) a plant growing taller like a vine
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47.

48.

49.

50.

Passage 2

Giant pandas are beautiful creatures. They are very large. They look like American bears. But their fur is dif-
ferent. Instead of being brown, their fur is black and white. They have white heads, with black fur around their
eyes and ears. They also have black hair on their shoulders and legs. But the rest of their fur is white. Their fur is
very thick. It keeps them warm in the winter.

Giant pandas live on the other side of the world. They live in forests in China. They cannot be found in America.
Unless, of course, you see one at a zoo. Sometimes you can see one at a Zoo.

Giant pandas mainly eat plants. Their favorite plant to eat is the bamboo plant. They can eat bamboo for 12 hours
every day. That’s a lot of bamboo! But they sometimes eat other things. Sometimes they will eat small animals. And
they can sometimes eat fish. But they like plants the most. And their favorite plant is always the bamboo.

There are a couple of interesting things about giant pandas. One interesting thing is that they have six fingers instead
of five. Their sixth finger helps them eat bamboo. Another interesting thing is that they are very good at climbing trees.
They can do this because they have very strong legs. They can climb high up big trees to look for food.

Giant pandas are wonderful animals, but they are very hard to find. There are very few of them. There are
many more American bears than giant pandas. This is because giant pandas are dying out. They are sometimes
not able to find enough food. When this happens, they die. Because there are not many giant pandas left, scientists
say they are endangered. This means they are in danger of dying and disappearing. It also means we need to take

very good care of them. If we do not, they might disappear from the earth.

What is the main purpose of the final paragraph?

1) to show that the giant pandas are in danger

2) to explain that giant pandas can die

3) to emphasize that giant pandas need to eat bamboo

4) to say that sometimes animals can disappear from the earth

In this passage, the author talks about ............... .

1) what giant pandas are like first, then how they are in danger

2) what giant pandas eat first, then how they are in danger

3) how giant pandas are in danger first, then how they behave

4) what giant pandas do first, then where they can be seen

Which sentence from the passage describes the main idea?

1) “Giant pandas are beautiful creatures.”

2) “There are a couple of interesting things about giant pandas.”

3) “Giant pandas are wonderful animals, but they are very hard to find.”

4) “Because there are not many giant pandas left, scientists say they are endangered.”
In this passage, we learn that the giant pandas is “endangered.” Which of these animals is also endangered?
1) the golden frog, which uses bright colors to warn away its enemies

2) the Labrador Retriever, which is one of the most popular dogs in the world

3) the bottlenose dolphin, which survives by eating small fish

4) the Sumatran tiger, which is in danger of dying out and disappearing

26 31 36 41 46
27 32 37 42 47
28 33 38 43 48
29 34 39 44 49
30 35 40 45 50
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Part A: Grammar and Vocabulary
Directions: Questions 951-962 are incomplete sentences. Beneath each sentences you will see four words or phrases marked

(1), 2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark your answer sheet.

951. The students were told to make sure .......... during the examination time at school.
1) their time to not waste 2) not to waste their time
3) that do not waste their time 4) not wasting their time
952. Since she ........... the proper lens for her camera, she wasn’t able to take pictures of the unusual scene.
1) was not bringing 2) has not brought
3) had not brought 4) would not bring
953. The modern train appeared to be going as fast as, perhaps even faster than, ............. .
1) a car the fastest 2) fastest cars
3) a car is the fastest 4) the fastest car
954. The two friends planned to leave their home country ........... September 15th, 2020.
1) on 2) at 3)in 4) for
955. The police are asked to take immediate action to ... further road accidents.
1) save 2) defend 3) prevent 4) surround
956. Stress can cause a variety of physical ........... ranging from headaches to stomach ulcers.
1) combination 2) disorders 3) patients 4) notices
957. In my opinion, anyone with ........... values would do everything possible to avoid war.
1) brave 2) moral 3) favorite 4) hospitable
958. The photos Paul takes are almost always the same and boring, but his new collection of photos are ............ exciting

and attractive.
1) unexpectedly 2) suddenly 3) invisibly 4) willingly
959. Whenever I want to read an English story, I first ......... the meaning of new words in a dictionary and only then
begin reading the story.
1) stand for 2) check in 3) pass away 4) look up
960. Having been a nurse a few years ago was a ............ for Victoria as a mother; it actually allowed her to take better

care of her baby.

1) demand 2) function 3) blessing 4) souvenir
961. The old man down the street always ........... to himself. I just realized I don’t even know his name.
1) keeps 2) cares 3) gives up 4) gets away
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962. Mary: This watch is for your birthday, Pam.
Pam: Thank you, but this watch looks cheap, so I don’t know if I’m going to wear it.
Pam’ mother: ... .
1) The early bird catches the worm
2) Actions speak louder than words
3) Don’t look a gift horse in the mouth

4) Don’t count your chickens before they hatch

Part B: Cloze Test
Directions: Questions 963-967 are related to the following passage. Read the passage and decide which choice (1),
(2), (3), or (4) best fits each space. Then mark your answer sheet.
Cloze
Recent advances in the fields of medicine and biotechnology ...963.... in situations that could not be even
....964... only a generation ago. Battery-operated plastic hearts can be implanted into people. People ...965.... be
kept alive indefinitely by machines. ... 966.... of animals can be made. While such scientific achievements may

ultimately help ...967...., they have also created complex legal and ethical issues.

963. 1) will result 2) was resulting 3) had resulted 4) have resulted
964. 1) replaced 2) imagined 3) compared 4) required
965. 1) can 2) should 3) must 4) are going to
966. 1) Exactly copies 2) Copies exactly 3) Exact copies 4) Copy exact
967. 1) ethics 2) behavior 3) heritage 4) humankind

Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by four questions. Answer
the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

Passage 1

For thousands of years, people have tried to find ways to keep food for longer. In the past, this was important as
people needed to save fresh food for times when it was hard to find, such as the winter. Today, there are still many
places without electricity and people living in these places need to preserve food in ways that don’t use refrigerators.
They need to make food last as long as possible.

Drying is the oldest type of food preservation. If water is removed from food, the bacteria can’t grow. In ancient
times in hot countries, people simply left fruit and meat outside to dry in the sun and the wind until all its natural
water was gone. This made the fruit last a very long time. Drying fruit sometimes results in a completely new product.
For example, grapes turn into raisins and plums turn into prunes. Drying food in the sun does not work in cooler or

wetter climates, but people have other methods to preserve food in cold places.
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968. The word “preserve” in paragraph 1 is closest in meaning to ............ .
1) need 2) find 3) last 4) save
969. What is the subject of paragraph 2?
1) How food preservation prevents the growth of bacteria
2) Types of food that can be preserved
3) Importance of food preservation
4) A food preservation technique
970. In paragraph 2, what is the role of the example of “grapes turn into raisins and plums turn into prunes”?
1) To describe an unusual event
2) To support an earlier statement
3) To describe a food preservation mechanism
4) To emphasize the function of fruit as a food source in the past
971. The passage is most likely to continue with a discussion of ............. .
1) different ways used by people in cold regions to prepare food stuff
2) why drying was first used in hot countries
3) some other food preservation methods

4) how people in cold places found food

Passage 2

One single person cannot be named as the one responsible for the invention of the cinema. In fact, Lots of
people played a part in the development of the cinema. A man called Muybridge made the first moving picture
in 1878.

It was a film of a horse running and it was only a few seconds long. By 1895, other people had invented various

machines for showing moving pictures, but many of these could only be watched by one person at a time.
The development of machines that could project films onto a screen was important. Thomas Edison was one of
the first to show very short films to audiences of 20 or more people. His films showed acrobats performing or
everyday events like a man eating!

At first, films were only a few minutes long. They were black and white and silent. They were usually
documentaries about different places or news events, or comedies showing people falling over and making
funny faces. Later they became longer stories, but there was still no sound. Instead, there might be a musician
playing a piano in the hall while the film was shown.

Musicals were probably the most popular kind of film throughout the 1930s and 1940s. A very famous
actress and singer at that time was Shirley Temple - she was a five-year-old girl everyone loved watching

perform on stage.

g

= 972. What question is paragraph 1 mainly intended to answer?

Q

T‘E 1) Who invented films? 2) What did early films look like?

?D 3) Why were early films short and simple? 4) How long did the cinema take to become popular?
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973. The word “they” in paragraph 2 refers to ............. .

1) films 2) documentaries
3) funny faces 4) places or news events, or comedies
974. The passage refers to all of the following as scenes in films EXCEPT ... .

1) Someone singing on stage
2) a man eating some sort of food
3) someone doing acrobatic movements
4) a musician playing a musical instrument
975. Which of the following can be concluded about films in the 1930s and 1940s?
1) They were still watched by a few people at a time.
2) They were not only visual but also audio.
3) They still did not have any storyline.

4) They were musicals only.

951 956 961 966 971
952 957 962 967 972
953 958 963 968 973
954 959 964 969 974
955 960 965 970 975
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Part A: Grammar and Vocabulary
Directions: Questions 976-987 are incomplete sentences. Beneath each sentences you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark your

answer sheet.

976. The tour guide warned the people who relied on him ............. in the park when the night falls.
1) they do not 2) not to walk
3) that they not walk 4) not walking
977. The newly employed girl is more efficient .............. they have ever had.
1) than any other secretary 2) any other secretary than
3) secretary than any other 4) any other than secretary
978. While skiing, the young boy broke his leg and ............ to the hospital immediately.
1) would be taken 2) had to be taken
3) had taken 4) took
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979. ... in a short time, especially when you are a true beginner, is something almost impossible to do.
1) A language to learn 2) You learn a language
3) Learning a language 4) A language which you learn
980. The electricity they ............ is not enough to meet their country’s needs.
1) achieve 2) collect 3) require 4) generate
981. Michael Mann, a/an ... professor of atmospheric science, has been invited to give a speech about the dangerous

effects of global warning.
1) offered 2) donated 3) identified 4) distinguished
982. The man wrote a book based on the events he had recorded in a/an ............. that he kept during the war between his

country Japan and China.

1) loss 2) diary 3) mission 4) imagination
983. Can you two just ......... your differences for now and get this done together, please?
1) put aside 2) keep on 3) call back 4) get away
984. Based on the belief that our worldview is influenced by the language we speak, it is often concluded that language
is like a pair of eyeglasses through which we “see” the world in a/an ... way.
1) decorative 2) intermediate 3) particular 4) monolingual
985. With all his energy ............. already, the jogger was not able to take one more step ahead and so sat down to rest.
1) turned off 2) passed away 3) used up 4) given up
986. The war was very depressing but gave to the community a greater ............. of togetherness.
1) sense 2) device 3) factor 4) notice

987. A: “We’ve got my boss, his boss, the assistant manager, an advisor, and the head of IT all involved in this project,

and it’s turning into a complete failure!”

B: “Well, ............... , after all!”
1) birds of a feather fly together 2) practice makes perfect
3) two heads are better than one 4) too many cooks spoil the broth

Part B: Cloze Test
Directions: Questions 988-992 are related to the following passage. Read the passage and decide which choice (1),
(2), (3), or (4) best fits each space. Then mark your answer sheet.
Cloze
It’s difficult to say. Lots of people played a part in the development of the cinema. A man called Muybridge
....988.... the first moving picture in 1878. It was a film of a horse running and it was only a few seconds long. By
1895, other people ... 989.... various machines for showing moving pictures, but many of these could only ...990....
by one person at a time. The development of machines that could project films onto a screen was important.
Thomas Edison was one of the first to show very short films to audiences of 20 or ...991... people. His films

showed acrobats and dancers performing or everyday ...992.... like a man eating!
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1) he made 2) to make 3) making 4) made

1) were inventing 2) would invent 3) have invented 4) had invented
1) watch 2) be watching 3) be watched 4) been watched
1) few 2) more 3) the most 4) a few

1) events 2) customs 3) images 4) conditions

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four questions. Answer

the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

Passage 1

It is said that most people have no more than 30 friends at any given time, and 400 over the whole of their
lives. However, on social networking sites, most users have about 150 friends. If these numbers are correct, then
friendship means different thing in different situations.

One of the reasons people have more online friends than real friends at any particular point in time is that
online friendship do not require much time and energy: it is easy to make Internet friends and keep them
forever. Another possibility is that it is difficult to say “no” when somebody asks us to be their friend online, even
if we feel we don’t really know them. The fact that they ask us suggests that they do consider us a friend, which is
a nice feeling. Alternatively, they may be “collectors” of online friends and simply want to use us to get a higher
number of friends and appear to be popular.

Online friendships are quite easy, but in the real world things are much more difficult. There are no rules about
friendship. There are no guidelines about how to make friends, how to keep friendships going, and how to finish
friendships if we want to move on. People also have very different opinions about friendship: some people would die
for their friends and value them more than family. Others feel that friends are temporary, only there to help each

other until they are no longer needed. If people with such different views become friends, this can lead to problems.

993.

994.

It can be understood from the passage that ............ .

1) people turn to the Internet to make friends because they no longer value friendships

2) the situation in which people make friends influences the actual nature of their friendship

3) online friendships last longer than real friendships that were a mark of past relationships

4) the Internet has made people so close that people pay more attention to their friends than to their family members
Which of the following best describes the function of paragraph 2 in relation to paragraph 1?

1) Paragraph 2 explains why the claim made in paragraph 1 is true.

2) Paragraph 2 brings in some reasons to question the position taken in paragraph 1.

3) Paragraph 2 discusses the effect of the change in friendship explained in paragraph 1.

4) Paragraph 2 expands one of the reasons mentioned in paragraph 1 about why people nowadays have more friends.
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995. What does paragraph 3 mainly discuss?
1) Why making friends online is not difficult
2) People’s opinions about the role of friends in their lives
3) What makes making friendships offline in the real world harder

4) The reasons why it is necessary to change the way people make friends online

996. The word “this” in paragraph 3 refers to ............. .
1) the link between people becoming weak 2) trying to find as many friends as possible
3) having different views towards friendship 4) people with different views becoming friends
Passage 2

Both men and women are living longer these days in the industrialized countries. However, women, on the
average, live longer. In general, they can expect to live six or seven years more than men. The reasons for this are
both biological and cultural.

One important biological factor that helps women live longer is the difference in hormones between men and
women. Hormones are chemicals which are produced by the body to control various body functions. Between
the ages of about 12 and 50, women produce hormones that are involved in fertility. These hormones also have
a positive effect on the heart and the blood flow. In fact, women are less likely to have high blood pressure or to
die from heart attacks.

The female hormones also protect the body in another way. They help the body to defend itself against some
kinds of illness. This means that women generally get sick less often and less seriously than men. The common
cold is a good example, women on average, get fewer colds than men.

Women are also helped by their female genes. Scientists are still not exactly sure how genes influence aging,
but they believe that they do. Some think that a woman’s body cells age more slowly than a man’s. Others think

that a man’s body cells age more quickly. Recent research seems to support both of these possibilities.

997. What is the main purpose of the passage?
1) To explore reasons for a fact
2) To compare and contrast two different findings
3) To follow the historical line of a new development
4) To show the role of medical advancement in people’s life expectancy
998. How many biological factors does the passage mention as having an effect on women’s living longer them men?
1) One 2) Two 3) Three 4) Four
999. What is the purpose of the example mentioned in paragraph 3?
1) To emphasize the role of illnesses in reducing people’s hope of living long
2) To prove that hormones can in fact help women in more than two ways
3) To support the claim made for the role of the female hormones

4) To refer to the most important illness influencing women
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1000. Which of the following statements is supported by the passage?
1) Not all men live shorter lives than women do.
2) Men used to live longer than women before the world became industrialized.
3) Scientists believe that genes are more effective than hormones to help women live long.

4) Scientists agree with one another about how genes make women age more slowly than men.
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